  Section 2.3
Linear Functions

Y = mx +b  

: Slope, Y-Intercept Form
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: Slope, Point Form

m = Slope = 
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Horizontal St. Lines have zero slope

Vertical St. Lines have undefined slope

Facts:

Parallel St. lines have equal slopes.

Perpendicular = Normal = Orthogonal St. lines (It means St, lines that intersect at 90 degree angle) have slopes that are the negative reciprocals of each other.

We did examples to find the equation of the straight line given any two independent pieces of information:

a) Horizontal and passes through a given point
b) Vertical and passes through a given point

c) Given slope and the Y-Intercept

d) Given the slope and a point

e) Parallel to given St. line and passes through a given point

f) Perpendicular to a given straight line and passes through a given point

g) Given two points

Finally to graph a straight you only need two points.  Any two points will do the job.  Most interesting two points are the X-Intercept and the Y-Intercept.

X-Intercept (Where it cuts the X-Axis) means y=0 

Y- Intercept (Where it cuts the Y-Axis) means x=0
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